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QUESTION:  324 
Exhibit 
 

 
 
The decision table above reflects a golf club's pricing structure for green fees and 
buggy/cart hire. What is the expected result (actions) for each of the following two test 
cases (TC1 and TC2)? 
* TC 1 - Paul is not a full member, is a Loyalty Card holder and requests to play 18 
holes with a buggy/cart 
* TC 2 - Cheryl is not at full member, doesn't have a Loyalty Card and requests to play 9 
holes with a buggy/cart 
 
 
A. TC1 - £23 total charges including buggy hire; TC2 - £21 total charge including buggy 
hire 
B. TC1 - £18 total charges including buggy hire; TC2 - £16 total charge but no buggy 
allowed 
C. TC1 - £23 total charges including buggy hire; TC2 - £16 total charge but no buggy 
allowed 
D. TC1 - £17 total charges but no buggy allowed; TC2 - £21 total charge including 
buggy hire  
 
 
Answer: D 
 
 
QUESTION:  325 
A system requirement states that up to 100 users should be able to carry out a 
transaction, with responses returned within 5 seconds. What type of non-functional 
testing would you carry out to verify these requirements? 
 
 
A. Stress testing 
B. Maintenance testing 
C. Load testing 
D. Usability testing  



Answer: B 
 
 
QUESTION:  326 
Which one of the following statements about testing techniques is TRUE? 
 
 
A. Exploratory testing can replace black box techniques when testing time is very 
limited 
B. Test execution scheduling should give priority to experienced based testing 
C. Specification based techniques can be used as a substitute for a poorly defined test 
basis 
D. Experienced based techniques are systematic and produce detailed test 
documentation  
 
 
Answer: A 
 
 
QUESTION:  327 
Debugging and Testing are key activities in the software development lifecycle. Which 
of the following are 'Debugging' activities? 
a) Identifying, a failure 
b) Locating the cause of failure 
c) Fixing the defect 
d) Checking the fix has resolved the failure 
 
 
A. a & d 
B. a & b 
C. b & c 
D. c & d  
 
 
Answer: A 
 
 
QUESTION:  328 
When considering the roles of test leader and tester, which of the following tasks would 
NOT typically be performed by a tester? 
 
 
A. Prepare and acquire the test data 
B. Set up and check the test environment 



C. Write test summary reports 
D. Review tests developed by others  
 
 
Answer: D 
 
 
QUESTION:  329 
Which of the following would you NOT expect to see on an incident report from test 
execution? 
 
 
A. The version(s) of the software under test 
B. The test execution schedule 
C. Expected results and actual results 
D. Precise steps to reproduce the problem  
 
 
Answer: D 
 
 
QUESTION:  330 
Which of the following is a Black Box test design technique? 
 
 
A. Decision Coverage 
B. Error Guessing 
C. Statement Coverage 
D. Equivalence Partitioning  
 
 
Answer: D 
 
 
QUESTION:  331 
Which of the following is a defect that is more likely to be found by a static analysis tool 
than by other testing techniques? 
 
 
A. Omission of a major requirement 
B. Inadequate decision coverage 
C. Component memory leakage 
D. Variables that are not used improperly declared  
 



Answer: D 
 
 
QUESTION:  332 
A garden irrigation system allows the user to specify 2 inputs: 
1. Frequency - The number of times the system should be automatically switched on per 
day; minimum once per day, maximum 5 times 
2. Duration - The duration of operation, in whole minutes, each time it is switched on; 
ranging from 1 to 60 Applying 2-value boundary value analysis which of the following 
options has the correct test set of valid and invalid boundary values? 
 
 
A. Frequency 1, 5; Duration 1, 60 
B. Frequency 0, 1, 5, 6; Duration 59 seconds, 1 minute, 60 minutes, 60 minutes 1 second 
C. Frequency 0, 1, 5, 6; Duration 0, 1, 30, 60, 61 
D. Frequency 0, 1, 2, 5, 6; Duration 0, 1, 30, 60, 61  
 
 
Answer: B 
 
 
QUESTION:  333 
When can functional and structural testing BOTH be applied? 
 
 
A. System and Component test levels only 
B. All 'Developement' test levels, i.e. those before Acceptance testing 
C. Component and Component integration test levels only 
D. All test levels  
 
 
Answer: D 
 
 
QUESTION:  334 
Which of the following is a white-box test technique? 
 
 
A. Decision table testing 
B. Exploratory testing 
C. Statement testing 
D. Error guessing  
 
 



Answer: C 
 
 
QUESTION:  335 
Which of the following would NOT be a common metric used for monitoring test 
preparation and execution? 
 
 
A. Number of Test cases passed and failed 
B. Percentage of planned test cases designed 
C. Number of test plan review comments 
D. Percentage of tasks complete in test environment preparation  
 
 
Answer: D 
 
 
 
QUESTION:  336 
Which of the following would be a good test technique to use when under severe time 
pressure? 
 
 
A. Exploratory testing 
B. Structure based testing 
C. Specification based testing 
D. Use Case testing  
 
 
Answer: B 
 
 
QUESTION:  337 
You have been asked to improve the way test automation tools are being used in your 
company. Which one of the following is the BEST approach? 
 
 
A. Selecting and automating scripts that test new functionality to find the most defects 
B. Using a keyword-driven testing approach to separate the actions and data from the 
tool's script 
C. Ensuring that all data, inputs and actions are stored in the tool's script for ease of 
maintenance 
D. Keeping expected results separate from the automation tool to allow the testers to 
check the results  



Answer: A 
 
 
QUESTION:  338 
During the development of a software change for a system, the developer makes a 
mistake in his work, which leads to a fault in the code. Unfortunately the fault is not 
found by software testing and is released into live. What is the definite consequence of 
this mistake? 
 
 
A. The system will fail, causing a defect 
B. If the defect is executed, the system may fail 
C. Loss of money, time, or business reputation 
D. Contractual requirements have not been met by testing  
 
 
Answer: B 
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